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1. �S}�`3�C`_�-}�
`3�C`9e}�
���
 
2. �i��0���S}���n>q
(�}�P#a��kS
 
3. ���4b�0p �EQ`��p�`t[p
���
 
4. {�t[��/-X DFT5t[_���/-X DTFTp!}� 
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1. j%(')p��/~\No% �:��10&	 
2. j%(')p��/-XNo% �EQ:��10&	 
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1. j���$p ���10&	 

2. I,(')�4b)-�=
dV4b�0,.(')
o%F,.(')�/0
1��mU�fWdVp

�f�0,.2(')p �3.2(4)��10&	 

�M��0p��/-X�ℱ[7(')] = 1, ℱ[<(')] = =
>? + A7(4); ��/-XpS��R&

S� ℱ BC
DE(F)
CFD G = (H4)I3(4);	v&S� ℱ B∫ ,(M)NMF

OP G = =
>? 3(4) + A3(0)7(4)
"�

3(4) = ℱ[,(')]`,(')p��/-X	 
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8��20&	�3(S) = OTUVW
XOYUVWZXUV[
��,(\);���uYZ<�
7�u`J�O'
7�u`.�O

'
7�u`,�O'
Nj%1FPp,(\)� 
1. |S| > 2;�6&	 
2. |S| < 0.5;�6&	 
3. 0.5<|z|<2��8&	 

�M�O'p Z -X�a[<(\)] = U
UO= , 1 < |S| ≤ ∞; 	a[−<(−\ − 1)] = U

UO= , 0 ≤ S < 1; 	a[dI<(\)] =

e
UOf , |d| < |S| ≤ ∞,a[−dI<(−\ − 1)] = e

UOf , 0 ≤ |S| < |d|	 
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���20&	�S_�-9et[}�pK&^w� 
g(\) − 5g(\ − 1) + 6g(\ − 2) = ,(\) − 3,(\ − 2) 

1. j�}�p*�f�6P��15&	 
2. )]}�``3`�S_�-}��5&	� 
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